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1 20 mL 12k
0.01 mol * L'
8
el Al e e e
0.01 mol * L™ =
/1 ]
NaOH 4 ' I
510 15 a0
. V(NaOH) /mL
1
NaOH
— —
1 NaOH pH
o (1)
A CH,COOH pH

<7 ¢(H") >¢(CH,CO0") >¢(OH"); B

n( CH,COOH) = n( CH,COONa) pH <7

¢(CH,CO007) >¢(Na™) >c(H") >¢(OH™); C
; CH,COOH  CH,COONa
pH =7 ¢(CH,CO0") =¢(Na®) >c(H")

¢(OH7); D

CH,COONa pH >7 ¢(Na") > ¢(CH,CO0") >

¢(OH™) >c¢(H") - (2) :

CH,COO0"\OH™ .H"
1 c(Na") +c(H") =
¢(CH,CO007) +¢(OH")

« A - B CH,COOH
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CH,COONa n( CH,COOH) > n( CH,COONa) pH
<7  NaOH

te(H™) >

c(Na™) (
c( CH,CO07) > ¢
¢(CH,CO007) > ¢(H") >
¢(CH,CO0") >c(H") =c¢(Na") >¢(OH");
¢(CH,CO0") >¢(Na") >¢(H") >¢(OH") .B -
c CH,COOH CH,COONa
n( CH,COOH) < n( CH,COONa) pH <7 NaOH
CH,COOH

¢( CH,CO07) >¢(OH")

); ¢ (H") =
( OH" ) = ¢(Na");
c(Na") >¢(OH);

CH,C00"

¢(CH,CO07) >¢(Na") >c(H") >¢(OH")
« C-D
CH,COONa n( CH,COOH)
NaOH
CH,CO0~

c(Na™) >

CH,COOH
<n( CH,COONa) pH >7
CH,COOH

¢(CH,CO07) >c¢(OH") >¢(H")
CH,COONa o
D : NaOH  CH,COONa pH >7
NaOH :
n(NaOH) < n ( CH,COONa ); n(NaOH) =
n(CH,COONa); n ( NaOH) > n(CH,;COONa);
n(NaOH) > > n( CH,COONa) CH,COO"~

¢(Na®) >¢(CH,CO0") >c¢(OH") >c(H");c(Na™)
c(CH,COO™) =c¢(OH") >¢(H"); c(Na") >
¢(OH™) >¢(CH,CO0™) >c¢(H");¢(Na™) =¢(OH™)
>c(CH,CO0™) =¢(H");¢c(OH") >c¢(Na") >

¢(H") >¢(CH,CO07) ( CH,COO~ ) o
2.

2 20 mL 0.01 mol * L
0.01 mol « L™

~
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pH
o (1) A

NH, « H,O pH >7 ¢ OH") >

¢(NH;) >¢(H"); B :n(NH, « HO) =

n( NH,CI) pH>7 ¢(NH,) >c¢(Cl7) >
c¢(OH™) >¢(H"); C NH, « H,0
NH, Cl1 pH=7 ¢(NH;) =¢(Cl7) >

¢(H") =¢(OH") ;D

NH,Cl pH<7 ¢(Cl7) >¢(NH,) >c(H") >
c(OH™) o(2) :
NH,.Cl"VOH" .
H” 1

¢(NH,) +¢(H") =¢(Cl7) +¢(OH™)

A-B NH, « H,0 NH,CI
n(NH, « H,0) >n( NH,Cl) pH >7
c(OH™) >
¢(NH;) >¢(H") >c(Cl7) ( )
¢(OH™) =¢(NH;") >c(H") =¢(Cl")
¢(NH;) >c(OH™) >¢(Cl7) >¢(H")
¢(NH,) >c(OH™) =¢(Cl7) >¢(H")
¢(NH;) >¢(Cl7) >¢(OH™) >¢(H")
B-C NH, * H,0  NH,CI
n( NH, * H,0) <n(NH,ClI) pH>7
NH, * H,0 NH,
¢(NH;) >¢(C17) >¢(OH") >¢(H")
) NH, * H,0  NH,Cl
n( NH, * H,0) <n( NH,Cl) pH<7
NH, * H,0 NH,;
ce(Cl7) >

¢(NH;) >¢(H") >¢(OH")

. 3’7 .
NH,Cl
D : HCI  NH,Cl pH <7

n( HCI) < n( NH,Cl); n( HCl) = n( NH,CI);

n( HCI) >n( NH,CI) ; NH,
¢(Cl7) >¢(NH;) >c(OH") >¢(H")
¢(Cl7) >¢(NH;) =¢(H") >¢(OH")
¢(Cl7) >¢(H") >¢(NH,) >¢(OH")
¢(Cl7) =¢(H") >¢(NH,) =¢(OH")
¢(H") >¢(Cl7) >¢(OH") >¢( NH,) ( NH,
)
1.
30(204
) 12
10
0.100 mol /L. NaOH 8
20.00 mL [t
0. 100 mol /L 2
3 U710 20 30
° 3
( ) o
AT
B. pH =7 V( NaOH)
20 mL
C. V( NaOH) = 20. 00 ml.
¢(Cl7) =¢(CH,CO0")
D. V( NaOH) = 10. 00 mL
c¢(Na™) >¢(CH,CO007) >c(H") >c¢(H")
o A
pH
I I . B
NaCl
pH =7
V(NaOH)  20ml.  :C

V( NaOH) = 20. 00 mL
¢(Cl7) =¢( CH,CO0") - ¢( CH,COOH) D
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V( NaOH) = 10.00 mL

¢(CH,CO0") >¢(Na") >c(H")

>c¢( OH™) o : B
2. pOH - pH pOH
4 (2013 ) b M
0.1 mol 4 ¢
-1 N
NaOH
pOH pOH = - Ige( OHT) 0 a b pi
pH 4
(e )
AM Q
B.N ¢(CH,CO007) >¢(Na™)
C.M N
D.Q NaOH
pOH - pH Q pOH=pH=a

c(H") =¢(H")
¢(CH,CO007) =c¢(Na™)
c(OH™) >¢(H™)

B . M CH,COOH
CH,COONa NaOH
M Q
A .M pOH=b N pH=b M
c(H") N ¢(H")
M N C
o NaOH
CH,COONa 0
NaOH D . . C
2 K,\K,
5 (
)25 C
HA
K, A 4 ol
K, . 51015 20

20 mL 0.1 mol « .”'HA

0.1 mol * L.”' NaOH

N

¢(CH,CO007) <c¢(Na™)

¥(NaOHYmL
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pH 5 (
) o ( ) o
A. ‘K, >K,
B. @ i¢(Na™) =¢(A7)
c. @ ie(Na™) =¢(A7) +
c( HA)
D. @
(A7)
c(OH™) + ¢( HA)
A 10 mL. NaOH
HA  Nad A
HA
HA A
K, >K,
K. >K, ;B

c(Na®) +¢(H") =c(OH™) +¢(A7) @

pH=7 c(OH™) =¢(H")
c(Na®) =c(A7) : C
) (OH") = N
’ ‘ T (1)
(A7) (A7) o) K o
¢(OH™) - ¢( HA) K, * ¢( HA) K,
K, @
(A7)
(OH) ~o(n) D : b
N pH N N
6 (2014
)
HCIO
clo- .

25°C - 012345678 9I10pH

6

CL(g) CL(aq) K, = 107"
ClL(aq) +H,0==HCIO+H" +Cl~ | 2
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30

¢ b
226500
~ o) > )
. D;
o A; |
N v—1
v—1 m+n<p+gq B ;
. C.
1. 2.
1 (1) o) ()
: o) >o( ) ,
mA( g) +nB(g) ==pC(g) +qD(g) o) <ol ) o) =o( )
1 .
( ) o (2) v v
A. m+n>p+gq v >0
B. m+n<p+gq o
C. (3) “
D. 7 “« o o
» K, =107 HCIO=——=H"+Cl0O" K, =? —=2H" +Cl0” +Cl . K=K, * K, * K, =107 x
Cl,(aq) \HCIO  ClO~ 107 x107 =10 A . B
(a) pH 6 . ce(H") =¢(ClO7) +c(Cl7) +
( ) ¢(OH™)  ¢(H*) =¢(OH") =¢(ClO7) +¢(C17) .
A.CL(g) +H,0==2H" +CIO" +Cl" ¢(C17) >c( HCIO) B ¢( HCIO) +
K=10""" ¢(Cl07) <e(H*) —¢(OH") . C pH
B. ¢( HCIO) +¢(ClO7) =6.5 ¢(HCIO) >¢(ClO7) pH=7.5
=c¢(H") —¢(OH") - D
C. pH=17.5 ¢(HCIO)  ¢(ClO")
pH=6.5 . e
D.
. A (pH =7.5) .

¢(Cl0™) =¢(HCIO) K, =107"° ClL(g) +H,0

( 12015 - 06 - 20)



